Print date: 9-4-2024

RAVAS Electric Scissor lift

Nr. Item code Description Special instructions Quantity
DO  PTP-A-KEY-HLE PT-A Key powerswitch scissorlift HLE3000 1,0
D3 LC-1000-M-1000 Load cell 1000 M 1000 Ohm Serial number is needed when ordering this compoment. 40
Mandatory for legal for trade systems.
D3  LC-1000-350-MR-3M Load cell 1000, 350 Ohm, multi-range, 3m cable 4,0
D4  MP-BOLT-M12-35-CYL Bolt M12 x 35 socket head DIN 912 8.8 8,0
D4  MP-BOLT-M12-60-CYL Bolt M12 x 60 socket head DIN912 8.8 2,0
D5 MP-BOLT-M12-65-CS Bolt M12 x 65 countersunk DIN 7991 2,0
D7 MP-NUT-M12-LOCKNUT Nut M12 lock nut din985 4,0
D8 BA-12V-50A-SC Battery 12V-50Ah for Scissorlift 1,0
D25 EB-REG-12V-12V-120MA Regulator 12-12V 120 mA 1,0
D25 EB-CON-9/100V-12V-ISOLATED Converter 9/100v 12v isolated 1,0
D30 PR-EXT-TH-RAVAS-7810V Printer Thermal 7810V Option: printer 1,0
D76 PTP-A-SC-EP-PUMP PT-A Pump Almeborg scissorlift electric 1,0
D77 PTP-A-SC-EP-HAN PT-A Handle complete Almeborg electric scissorlift 1,0

Product changes reserved

12



Print date: 9-4-2024

Nr. Item code Description Special instructions Quantity
D78 PTP-A-SC-WH-ST-PU PT-A wheel steering Polyurethane scissorlift manual/electric 2,0
D79 PTP-A-SC-WH-TL-PU PT-A wheel tandem polyurethan scissorlift manual/electric 2,0
D80 PTP-A-SC-MOTOR Repair kit 1,0
D81 FS-A-SCISSORLIFT Fork shoes Almeborg scissorlift RAL 9005 1,0
D91 EB-4-LC-21-41 Junction board 4xLC 1,0
D92 SAO-EP-LEVELSENSOR-C3041 Subassembly, Level correction sensor with C3041 chip 1,0
D94 MP-MP-3-STST Mounting plate loadcell 3 mm stainless steel 4,0
D95 MP-RING-M12-STST Ring M12 stainless steel din125A RVS A2 6,0
D103 SA-IN-32-RAV-RAL3000-M Subassembly, indicator 3200, RAVAS, RAL3000, M 1,0
D103 SA-IN-32-RAV-RAL3000 Subassembly, indicator 3200, RAVAS, RAL3000 1,0
D106 SA-HO-SYN-JUNCTION Subassembly, Junction box with bolts and screws 1,0
D112 MP-BASE-ROTATING-STST-V2 Rotating base indicator stainless steel, version 2 1,0
D114 MP-BRACKET-TILT-ROT-V2-STST Tilt bracket bottom for V2 rotating base, stainless steel 1,0
D133 CA-8-0,25 Cable 8x0,25 grey - per meter 1,0
D197 PTP-A-SC-EP-RELAIS-12V-70A PT-A Relais 12V-70A, Almeborg Scissorlift 1,0
D226 CA-SPI-8-0,14-0,5 Cable spiral 8 x 0,14 0,5 m black 1,0
D243 MP-BRACKET-TILT-ROT-3200-STST Tilt bracket top 3200 for V2 rotating base, stainless steel 1,0
D244 PT-A-SCISSORLIFT-HLE4000-R3000 Pallet truck AlImeborg Scissorlift, HLE4000, RAL3000 1,0

Product changes reserved

2/2



